0.91

0.81

0.5

R=0.4, p = 3.4e-05

]
R=0.049,p=0.81

R=0.18,p=0.12
(]

1.75

2.00

2.25
Leukocytes

2.50

2.75

status

=2= |CU
=2= Ward



aLA

0.2

0.1

R=0.32,p=0.0014

]
R=0.29,p=0.16
R=-0.033,p=0.78
]

1.75

2.00

2.25
Leukocytes

2.50

2.75

status

=2= |CU
=2= Ward



Sum of OG isomers

2.01

=
o

1.0

R =0.39, p = 5605

o
R=0.21,p=0.3
R=0.1,p=0.36

0.5

1.75

2.00

2.25
Leukocytes

2.50

2.75

status

=2= |CU
=2= Ward



0.401

0.351

0.251

0.201

R =0.28, p = 0.0045

<]
R=0.16,p=0.45
R=0.19,p=0.11
o]

1.75

2.00

2.25
Leukocytes

2.50

2.75

status

=2= |CU
=2= Ward



2.51

2.01

Sum of AG isomers
Lo
(&3]

1.0

R =0.44, p = 4.3e-06

o

R=0.29,p=0.16

R=0.12,p=0.3
o

1.75

2.00

2.25
Leukocytes

2.50

2.75

status

=2= |CU
=2= Ward



Sum of LG isomers

R=0.42,p=1e-05

o
R=0.21,p=0.3
R=0.11,p=0.33

1.75

2.00

2.25
Leukocytes

2.50

2.75

status

=2= |CU
=2= Ward



1.51

=
o

12,13-DiHODE

<)
R =0.29, p =0.0028 R=-0.19,p=0.37
R =0.26, p=0.02
]
(<)
()
)
status
o =2= |CU

=2= Ward

1.75 2.00 2.25 2.50 2.75
Leukocytes



14,15-DIHETE

0.251

0.20+1

0.151

0.101

o
R=0.29, p=0.0028 R=0.07,p=0.74
R =0.087, p=0.45

status

=2= |CU
=2= Ward

1.75 2.00 2.25 2.50 2.75
Leukocytes



0.5

o
~

8,12-iPF2a-VI

0.3

R =0.47,p = 7e-07

o]
R=0.31,p=0.14
R =0.38, p =0.00068
o

1.75

2.00

2.25
Leukocytes

2.50

2.75

status

=2= |CU
=2= Ward



8,9-DIHETrE

0.3

<]
R=0.3,p=0.0023 R=0.17,p=0.42
R #0.29, p =0.011

<)
0®
°
o (o] o °
o
° ° °
)
° status

=2= |CU
=2= Ward

1.75 2.00 2.25 2.50 2.75
Leukocytes



2.0

1.51

9,10-DiIHOME

o
R =0.34, p = 0.00047 R=-0.081,p=0.7
R =0.24, p=0.038

° °
status
=2= ICU
° & Ward
o o ar
o (o]

1.75 2.00 2.25 2.50 2.75
Leukocytes



0.91

0.81

0.5

o
R =0.42, p = 8.6e-06 R =0.088, p=0.68
R=0.2,p=0.084

status

=2= |CU
=2= Ward

1.6 2.0 2.4
Neutrophils



aLA

0.2

0.1

R =0.3, p=0.0025

(o]
R =0.34, p = 0.097
R =-0.085, p = 0.47

1.6

2.0
Neutrophils

2.4

status

=2= |CU
=2= Ward



0.8

(o]
Re -0.35, p = 0.00024 R=0.16, p = 0.46
° R =-0.24, p=0.034

1.6 2.0
Neutrophils

2.4

status

=2= |CU
=2= Ward



TXB2

R

o
=-0.29, p = 0.0044 R=-0.21,p=0.35

R=-0.15p=0.2

°
[6) (o]
°
o © % o ©
)
° o status
o ? o =2= ICU

° °

=2= Ward

1.6 2.0 2.4
Neutrophils



Sum of OG isomers

2.01

=
o

1.0

o]
R =0.43, p = 4.9e-06 R =0.35,p=0.087
R=0.13,p=0.24

status

=2= |CU
=2= Ward

0.5

o (o] (o]
o. () 0.
o : e o ° '
o
1.6 2.0 2.4

Neutrophils



Sum of AG isomers

2.51

2.01

=
o

1.0

R =0.47, p = 6.3e-07

o
R=0.41, p=0.04
R=0.13,p=0.26

o

1.6

2.0
Neutrophils

2.4

status

=2= |CU
=2= Ward



Sum of LG isomers

R =0.46, p = 1.2e-06

o
R=0.34,p=0.1
R=0.13,p=0.24

1.6

2.0
Neutrophils

2.4

status

=2= |CU
=2= Ward



1.5 o
R=0.3, p=0.0021 R=-0.16,p = 0.46
R=0.21, p = 0.066

(o]

(o]
[} 10' °
O o
@) status
I
9 ° =2= ICU
® -2= Ward
o o
—

1.6 2.0 2.4
Neutrophils



12-HHTrE

R=-0.3, p=0.0025

R=-0.31,p=0.15
R=-0.15p=0.2

°
)
o0 [o]
status
° =2= |CU
) =2= Ward
(<)

1.6

2.0 2.4
Neutrophils



14,15-DIHETE

0.251

0.20+1

0.151

0.101

o
R=0.29, p=0.0028 R=0.1,p=0.62

R =0.056, p =0.63
o
o
[o]
(o]
o
(o]
[0
(o] ° °
o
° ° ° status
-e~ ICU
=-2= Ward

1.6 2.0 2.4
Neutrophils



o
0.51 R=0.49,p=2.3e-07 R=0.4, p=0.055
® R=0.37,p=0.0011
o

o
~

status

=2= |CU
=2= Ward

8,12-iPF2a-VI

0.3

1.6 2.0 2.4
Neutrophils



2.0

=
o

9,10-DiIHOME

(o]
R =0.35, p = 3e-04 R =-0.035, p=0.87
R=0.19,p=0.1

© o
status
=2= ICU
° & Ward
o o ar
o (o]

1.6 2.0 2.4
Neutrophils



PGE2

0.8

(o}
R=0.3, p=0.0021

R=0&3,p=0.27

® R=0.33, p=0.0031

0.75

1.00
Lymphocytes

1.25

1.50

status

=2= |CU
=2= Ward



TXB2

R =0.27, p = 0.0081

o
R=0.25,p=0.27
R=0.29,p=0.012

0.75

1.00 1.25
Lymphocytes

1.50

status

=2= |CU
=2= Ward



10-HDHA

1.2

0.4+

R=0.26, p=0.0072

[¢]
R=0.087,p=0.68 °
R =0.33, p = 0%033 °

0.75

1.00 1.25 1.50
Lymphocytes

status

=2= |CU
=2= Ward



13-HDHA

0.8

o
o)

0.4

R =0.27,p =0.0051 R=0.11, p = 0861 °
R =0.34, p=0.0027
(]

0.75

1.00 1.25 1.50
Lymphocytes

status

=2= |CU
=2= Ward



14-HDHA

N

R =0.28, p = 0.0036

o
R =0.045, p = .83 o
R =0.37, p = 0.00074

status

=2= |CU
=2= Ward

0.75

1.00 1.25 1.50
Lymphocytes



17-HDHA

R=0.3, p=0.0019 ® R=-0.046,p=0.83
R = 0.38, p = 0.00056 o

0.8

status

=2= |CU
=2= Ward

0.4

0.75 1.00 1.25 1.50
Lymphocytes



20-HDHA

0.9+

0.8

0.4+

R =0.3, p=0.0019

R =0.069, p=0.74
® R=0.37, p=0.00079

status

=2= |CU
=2= Ward

0.75

1.00 1.25 1.50
Lymphocytes



12-HHTrE

R =0.34, p = 0.00045

o
R=0.31,p=0.16
R =0.37, p = 0.00073

o
o
o
o. °
o status
=2= |CU
=2= Ward

1.00 1.25 1.50
Lymphocytes



15-HETE

1.2

1.0

o]
R=0.3,p=0.002 R=0.12,p=0.56
R =0.34, p=0.0022

status

=2= |CU
=2= Ward

0.75 1.00 1.25 1.50
Lymphocytes



0.8

0.7

15-HETE
o
<

0.51

0.4

0.31

R =0.39, p=4.7e-05

R=0.074,p=0.73
R =0.46, p=2e-05

0.75

1.00 1.25 1.50

Lymphocytes

status

=2= |CU
=2= Ward



20-HETE

0.8

0.4+

[°]
R =-0.26, p = 0.0088

R =-0.087, p=0.68
R =-0.32, p=0.0053

status

=2= |CU
=2= Ward

o
o o
o
o
0.75 1.00 1.25 1.50

Lymphocytes



5,6-DIHETrE

0.4+

R = 0.47, p = 5.8e-07

R =0.36,p=0.081
° R=0.5p=2.5e-06

0.75

1.00 1.25 1.50
Lymphocytes

status

=2= |CU
=2= Ward



0.91

R =0.44, p = 2.9e-06 R=0.12,p=0.58
R=0.025, p=0.83

0.8- ° o

status

=2= |CU
=2= Ward

0.51 ° °

CRP



aLA

0.2

0.1

R=0.3, p=0.0027

<]
R =-0.0064, p=0.98
R=-0.12,p=0.31

CRP

status

=2= |CU
=2= Ward



3.0

R = -0.34, p = 0.00054

R =0.0099, p=0.96
R=-0.14,p=0.24
<]

CRP

status

=2= |CU
=2= Ward



AdA

0.5

0.2+

[e]
R =-0.32, p = 0.00092

o _
I%:

~0.0083, p = 0.97
-0.29, p=0.011

CRP

status

=2= |CU
=2= Ward



0.4

(]
R =-0.38, p = 0.000%8

e R=-0.42,p=0.11
R®=-0.22, p = 0.056

CRP

status

=2= |CU
=2= Ward



(]
R =-0.37, p=0.00011 e R=-0.44,p=0.026
° R=-0.11,p=0.36

0.8

status

=2= |CU
=2= Ward

CRP



R =0.34, p = 0.00053 R50.274p=02

status

=2= |CU
=2= Ward

0.31

CRP



Sum of AG isomers

2.51

2.01

=
o

1.0

R =0.38, p = 7.3e-05

o

R=0.49,p=0.014

R =-0.33, p=0.0033
C)

status

=2= |CU
=2= Ward

CRP



Sum of LG isomers

R =0.36, p =0.00025

o
R=0.4, p=0.048
R =-0.42, p = 0.00016

CRP

status

=2= |CU
=2= Ward



11-HETE

1.51

o
R =-0.43, p=5e-06

R=-0.38,p=0.06
R=-0.25,p=0.028

CRP

status

=2= |CU
=2= Ward



11b-PGE2

0.51

R =

-0.29, p=0.0028

(o]
Re=—0.16, p = 0.46
R=-0.3, p=0.0076

CRP

status

=2= |CU
=2= Ward



15- o
R =0.28, p = 0.0042 R=-0.026,p=0.9
R=-0.1,p=0.37

=
o
°

status

o =2= |CU
=2= Ward

12,13-DiHODE

CRP



12-HHTrE

(<}
R =-0.29, p = 0.0036 R=-0.18,p=0.4
R =-0.085, p=0.46

o
o
o
o
(] o© e o
o status
8 °© -2~ ICU
o ©
° =2= Ward
0o )

CRP



15-HETE

1.2

1.0

o
R=-0.4,p=2.6e-05 R=-0.39, p=0.052
R=-0.26,p=0.021

o
o
o
o ° o

o ©

o o
status
=2= |CU
=2= Ward

CRP



o
R=-0.43, p=5.8e-06 R=-0.32,p=0.12
R=-0.37,p=0.0011

0.8+
o
0.7 °
°
o o

" ° o o © o
E 0.6- ° status
T ° ° e~ ICU
I
ﬁ =-2= Ward

0.31

CRP



5,6-DIHETrE

0.4+

o
R =

-0.65, p=2.5e-13
°

R=-0.74, p = 2.5e-05
R=-0.69, p=2.9e-12

CRP

status

=2= |CU
=2= Ward



5-HETE

0.7

0.4+

°
R =-0.33,# =0.00083

R=-0.39, p=0.055
Re- —0.31, p = 0.0057

CRP

status

=2= |CU
=2= Ward



8,9-DIHETrE

R =

~0.27, p = 0.0066

R =-0.4, p=0.049
R=-0.56, p = 1.5e-07

status

=2= |CU
=2= Ward

CRP



o
R =-0.32, p=0.0011 R=-0.31,p=0.13
R=-0.22, p=0.055

°

°

0.9
o °
°
°
°

Lll—J ° ° status
L

° ° o -2~ ICU
T 0.7 o ° °
(e'e] =2= Ward

CRP



8iso-PGE2

0.4+

o
w

0.21

R =

-0.27,p=0.008
°
°

°
e R=0.11,p=0.65
R=-0.13,p=0.25

status

=2= |CU
=2= Ward

CRP



[e]
R =0.29, p = 0.0031 R =-0.021, p=0.92
R=-0.24, p=0.033

2.01
o °

w i
= 1.5
o) status
I
[a) -2~ |ICU
c|> ° =2= Ward
— %o
(e)] ° o

CRP



o o
R=-0.38,p=6.7e-05 Rg= —0.35, p = 0.087
R=-0.24, p=0.037

0.61

status

=2= |CU
=2= Ward

CRP



0.91

o
R =0.26, p=0.007 R=-0.29,p=0.16
R =0.045,p=0.7

status

=2= |CU
=2= Ward

0.51 ° °

4 8 12 16
Ferritin



o
R=-0.3,p=0.00180 R=0.24,p=0.25
R=-0.2, p=0.084

0.8

status

=2= |CU
=2= Ward

Ferritin



Sum of OG isomers

2.01

0.5

R =0.33, p=0.00071

R=-0.32,p=0.12
R=0.22,p=0.05

12
Ferritin

16

status

=2= |CU
=2= Ward



2.51

2.01

Sum of AG isomers
Lo
(&3]

1.0

R=0.38, p=9.2e-05

R=-0.11,p=0.59
R=0.22, p=0.058

Ferritin

12

16

status

=2= |CU
=2= Ward



Sum of LG isomers

R =0.34, p = 0.00052

R=-0.29,p=0.16
R =0.22, p=0.055

Ferritin

16

status

=2= |CU
=2= Ward



12-HHTrE

R =

~0.29, p = 0.003

R =0.47, p=0.024
R=-0.22, p=0.054

8 o
status
() =2= |CU
)
=2= Ward

12 16
Ferritin



[¢]
R =-0.28, p = 0.0048 R=0.22,p=0.3
R=-0.27,p=0.016

0.8
)
0.7 1 °
o
%0

" ° o o®
E 0.6- ° status
T ® e e~ ICU
I
ﬁ =2= Ward

0.31

Ferritin



0.91

(o]
R =0.33, p = 0.00079 R=0.28,p=0.17
, R=-0072,p=053

0.81

status

=2= |CU
=2= Ward

0.5+ o °

1.0 1.5 2.0 2.5
Ratio4 8



Sum of OG isomers

2.01

=
o

1.0

R =0.34, p = 0.00036

o
R =0.098, p = 0.64
R=0.12,p=0.28

0.5

1.0

1.5 2.0
Ratio4 8

2.5

status

=2= |CU
=2= Ward



2.51

2.01

Sum of AG isomers
Lo
(&3]

1.0

R =0.39, p = 5.7e-05

(o]
R=0.22,p=0.3
R=0.12,p=0.31
o

1.0

1.5
Ratio4 8

2.0

2.5

status

=2= |CU
=2= Ward



Sum of LG isomers

R=0.39, p = 5.4e-05

R=0.18, p=0.39
R=0.13,p=0.25

1.0

1.5 2.0
Ratio4_8

25

status

=2= |CU
=2= Ward



15- o
R =0.27, p=0.0061 R=0.24,p=0.25
R=-0.075,p=0.51

o]

o
[} 10' °
O o
o status
=
o ° -2~ ICU
® -2= Ward
]
-

1.0 1.5 2.0 2.5
Ratio4 8



(o]
R =0.28, p=0.0045 R=0.13, p = 0.54
R =-0.057,p=0.62

2.01
o o

w i
= 1.5
o) status
I
[a) -2~ ICU
c|> ° =2= Ward
— ° o
o ° o

1.0 1.5 2.0 2.5
Ratio4 8



10-nitro—OA

0.61

R =

~0.26, p = 0.0072

o
R =-0.66, p = 0.00036
®=-0.18,p=0.11
(e}

0.6

0.8

1.0

T Cells

1.2

status

=2= |CU
=2= Ward



13-HDHA

0.8

o
o)

0.4

R =0.29, p = 0.0032

R=047,p=0.41
R =0.32, p = 0.0038
(o]

0.6 0.8 1.0
T Cells

1.2

status

=2= |CU
=2= Ward



16-HDHA

0.7

o
o

R =0.27, p = 0.0059

o]
R': 0.21,p=0.31
R=0.29,p=0.011

0.5-
o
° ® °
° o
° o o
o
(o] o
0.4-
(o]
0.6 0.8 1.0 1.2

T Cells

status

=2= |CU
=2= Ward



17-HDHA

0.8

0.4

R =0.3, p=0.0019

R=0%4,p=085
R = 0.36, p = 0.0012

0.6

0.8 1.0
T Cells

1.2

status

=2= |CU
=2= Ward



20-HDHA

0.9+

0.8

0.7 -

0.4+

R =0.27, p = 0.0063

R=-0.025,p=0.9
R=0%4, p=0.0025

0.6

0.8 1.0
T Cells

1.2

status

=2= |CU
=2= Ward



0.401

0.351

9-HEPE
o
)
o

0.251

0.201

R=0.3, p=0.0024

R=0.22,p=0.3
R =0.33, p = 0.0032

?

0.6

0.8
T Cells

1.0

1.2

status

=2= |CU
=2= Ward



15-HETE

1.2

1.0

(o]
R=0.18,p=0.38
R=0.3, p=0.0072

R =0.26, p = 0.0088

0.6 0.8 1.0
T Cells

1.2

status

=2= |CU
=2= Ward



R =0.33, p =0.00066 R=0.15p=0.47
R =0.39, p=0.00039

0.8+
o
0.7 o
o
° °

" ° ° o° o
— status
[ 0.6 o o |
T =2= |CU
é =2= Ward

0.31

0.6 0.8 1.0 1.2
T Cells



5,6-DIHETrE

0.4+

R =0.47, p = 4.3e-07

R=0.4,p=0.046
® =0.51, p = 2.2e-06

0.6

0.8 1.0
T Cells

1.2

status

=2= |CU
=2= Ward



8,9-DIHETrE

o
R =0.28, p=0.0047 R=0.12,p=0.58

° R =0.38, p = 0.00056
<)
° o
o
0.3 o o o
o o
o o
° status
=2= |CU
=2= Ward

0.6 0.8 1.0 1.2
T Cells



13-HDHA

0.8

o
o)

0.4

o
R =0.28, p = 0.0041 R=@.14,p=0.5 o
R =0.31, p = 0.0058
(o]

0.4 0.6 0.8 1.0
CD4

status

=2= |CU
=2= Ward



17-HDHA

0.8

0.4

R =0.3, p=0.0025

R=057,p=0.79
R = 0.34, p = 0.0023

0.4

0.6

0.8
CD4

1.0

status

=2= |CU
=2= Ward



R=0.31, p=0.0019 R=0.31,p=0.14

R=0.27,p=0.017
° e

0.401

0.351

status

=2= |CU
=2= Ward

9-HEPE
o
)
o

0.251

0201 ° °

0.4 0.6 0.8 1.0
CD4



0.8

0.7

15-HETE
o
<

0.51

0.4

0.31

R =0.33, p=0.00078

R =0.066,p=0.75
R =0.44, p = 7.5e-05

status

=2= |CU
=2= Ward

0.4 0.6

0.8 1.0

CDh4



5,6-DIHETrE

0.4+

R =0.44, p = 4.1e-06

R=0.38,p=0.06
R =@.49, p = 6.6e-06

0.4 0.6

0.8
CD4

1.0

status

=2= |CU
=2= Ward



o
R =0.27, p& 0.0083 e R=0.23,p=0.39
° R =0.23, p = 0.049

0.4 ° °

status

=2= |CU
=2= Ward

0.4 0.6 0.8
cDS8



16-HDHA

0.7

o
o

R =0.28, p = 0.0045

R=0.21,p§0-31
R =0.32, p = 0.0043

0.5-
o
° & ° °
° (o]
) ° )
o
[o] o °
° o)
[0
0.4-
o
0.4 0.6 0.8

CD8

status

=2= |CU
=2= Ward



15-HETE

1.2

1.0

]
R =0.28, p = 0.0049 R=0.34,p=0.092
R=0.21,p=0.071

o
o
o
o
° o
o
o
o o °
status
=2= |CU
=2= Ward

0.4 0.6 0.8
cDS8



15-HETrE

0.8

0.7

o
o

0.31

o
R =0.28, p = 0.0042 R =0.38, p = 0.058
R =0.22, p = 0.059

o
o
o
° o
° o © o o
° status

° o -2~ ICU

=2= Ward

0.4 0.6 0.8



5,6-DIHETrE

0.4+

R=0.4, p=2.5e-05
o

(]
R=0.42,p=0.039
R=0.38,p=7e-04

0.4

0.6
cDS8

0.8

status

=2= |CU
=2= Ward



12,13-DiIHOME

2.01

=
o

=
o

o
R =0.26, p = 0.0083 R =0.075,p=0.72
R=0.47, p = 1.3e-05

o
o
<)
status
o

=2= |CU

) =2= Ward
o
o) (o]

0.1 0.2 0.3 0.4



13-HDHA

0.8

o
o)

0.4

R =0.27, p = 0.0068

m=0.2,p=0.33
R=0.28, p=0.014

0.4

0.6 0.8
Non_T

1.0

status

=2= |CU
=2= Ward



17-HDHA

R=0.29, p = 0.0034

0.8

R=0.021, p=0.92
R =0.33, p = 0.0033 o

0.4

0.4

0.6 0.8 1.0
Non_T

status

=2= |CU
=2= Ward



0.8

0.7

15-HETE
o
<

0.51

0.4

0.31

R =0.27, p = 0.0059

R=-0.18,p=0.39
R=0.37,p=0.0011

0.4

0.6

Non_T

0.8

1.0

status

=2= |CU
=2= Ward



5,6-DIHETrE

0.4+

R =0.29, p = 0.0029

R=0.22,p=0.28
° R =0.32, p = 0.0046

0.4

0.6 0.8 1.0
Non_T

status

=2= |CU
=2= Ward



13-HDHA

0.8

o
o)

0.4

R =0.27, p = 0.0056

o
R=0.384p=0.064 ®
R =0.26, p=0.023
o

0.25

0.50

0.75
Monocytes

1.00

status

=2= |CU
=2= Ward



16-HDHA

0.7

o
o

0.51

0.4

R=0.31, p=0.0015

]
R=0.23gp =0.27 o
R =0.36, p=0.0014

0.25

0.50

0.75
Monocytes

1.00

status

=2= |CU
=2= Ward



o]
R=0.3,p=0.0024 R=0.28,p=0.19
R =0.39, p=0.00042

?

0.401

0.351

status

=2= |CU
=2= Ward

9-HEPE
o
)
o

0.251

0.201

0.25 0.50 0.75 1.00
Monocytes



11b-PGE2

0.51

R =0.28, p = 0.0048

]
R=0.24,p=0.25
R=0.27,p=0.016

0.25

0.50

0.75
Monocytes

1.00

status

=2= |CU
=2= Ward



5,6-DIHETrE

0.4+

R =0.32, p = 0.00085

(o]
R=0.34,p=0.1
R=0.3, p=0.0067

0.25

0.50

0.75
Monocytes

1.00

status

=2= |CU
=2= Ward



9-HETE

0.61

R =0.3, p=0.002

o
R=0.21,p=0.31
R =0.31, p = 0.0063

0.25

0.50

0.75
Monocytes

1.00

status

=2= |CU
=2= Ward



0.91

0.81

0.5

o
R=0.42, p=9.8e-06 R=-0.11,p=0.6

R=0.28,p=0.013

status

=2= |CU
=2= Ward

75

10.0 125 15.0 175
CD163



aLA

0.2

0.1

o
R =0.37, p=0.00015

R=0.15,p =0.46
R=0.022,p=0.85
o

75

10.0

125
CD163

15.0

175

status

=2= |CU
=2= Ward



o o
R=-0.42,p=1e-05 R
3.0 N

=-0.6, p=0.0014
-0.13,p=0.27

status

=2= |CU
=2= Ward

75 10.0 125 15.0 175
CD163



Sum of OG isomers

2.01

=
o

1.0

o
R=0.43,p=7.1e-06 R =0.035, p = 0.87
R=0.21, p = 0.069

)
<)
o
) ° °
° [oe]
o ©
<)
L4 °
status
=2= |CU
=2= Ward

0.5

75 10.0 125 15.0 175



Sum of AG isomers

2.51

2.01

=
o

1.0

R =0.41, p = 1.5e-05

o
R =-0.087, p=0.68
R=0.21,p=0.063

75 10.0

125 15.0

175

status

=2= |CU
=2= Ward



Sum of LG isomers

R =0.44, p = 3.9e-06

o]
R=-0.027,p=0.9
R=0.23,p=0.044

o
o
o ©
o
o o °
° o
—0_ 0 status
=2= |CU
=2= Ward

75

10.0

125 15.0 175



11,12-DiHETrE

0.51

R=0.37,p=1e-04

R =0.39, p = 0.055
R =0.016, p = 0.89

75 10.0

125 15.0
CD163

175

status

=2= |CU
=2= Ward



1.51

=
o

12,13-DiHODE

o]
R =0.34, p =0.00038 R =-0.0095, p=0.96
R=0.18,p=0.11

)
()
°
o
status
o =2= |CU
=2= Ward
)

75 10.0 125 15.0 175



12,13-DiIHOME

2.01

=
o

=
o

0.51

R =0.29, p = 0.003

o
R=-0.047, p=0.82
R=0.21, p=0.061

75

175

status

=2= |CU
=2= Ward



14,15-DIHETE

0.251

0.20+1

0.151

0.101

o
R=0.44, p =4.1e-06

R =0.35,p=0.083
R=0.12,p=0.3
o

75

10.0 125 15.0 175
CD163

status

=2= |CU
=2= Ward



14,15-DiHETrE

0.51

R =0.26, p = 0.0069

R=0.3,p=0.15
R=0.071,p=0.54

75 10.0

125 15.0
CD163

175

status

=2= |CU
=2= Ward



0.4+

17,18-DIHETE
o
@

0.2

R =0.43, p = 7.1e-06

R = 0.54, p = 0.0052
R=-0.028,p=0.81

status

=2= |CU
=2= Ward

75

10.0

125 15.0 175



19,20-DiHDPA

R=0.4,p=2.7e-05 R=0.53,p=0.006 ®
0.5 R =0.076,p =0.51
o

status

=2= |CU
=2= Ward

75 10.0 125 15.0 175
CD163



5-HEPE

0.51

0.2

° o
R =0.37, p = 0.00016

R=0.11,p=0.6
R=0.2, p=0.088

75 10.0

125 15.0
CD163

175

status

=2= |CU
=2= Ward



0.5

o
~

8,12-iPF2a-VI

0.3

o
R =0.52,p=3.2e-08 R=0.5p=0.012

R=0.29,p=0.01°?

75

10.0 125 15.0 175
CD163

status

=2= |CU
=2= Ward



8,9-DIHETrE

R =0.45, p = 1.8e-06

o
R=0.7, p=0.00011
R=0.15p=0.18

75 10.0

125 15.0
CD163

175

status

=2= |CU
=2= Ward



9,10-DiIHOME

o
R =0.42, p = 9.8e-06 R=0.077,p=0.71
R =0.22, p = 0.055

2.0
° °
1.5
status
=2= ICU
° & Ward
o o ar
o) (o]

75 10.0 125 15.0 175



9-HOTE

0.7

0.61

R =0.27, p = 0.0049

o
R =0.031, p=0.88
R=0.15p=0.19

° )
o
o
° status
°
o =2= ICU
° ° == Ward

75

10.0

125 15.0 175



13-HDHA

0.8

o
o)

0.4

R =0.26, p = 0.0087

R=032,p=0.12 q®
R=0.23,p=0.044
le]

0.2

0.4 0.6
B—Cells

status

=2= |CU
=2= Ward



16-HDHA

0.7

o
o

R =0.26, p = 0.0084

(o}
R=027,p=02
R=0.25,p=0.025

0.5-
o
o °© °
o °
© o) ()
8
(o] o
o
0.4-
o
0.2 0.4 0.6

B—Cells

status

=2= |CU
=2= Ward



5,6-DIHETrE

0.4+

R =0.28, p = 0.0043

R=0.31,p=0.14
R =083, p=0.0029

0.2

0.4 0.6
B—Cells

status

=2= |CU
=2= Ward



PGE2

0.8

R =0.27, p = 0.0052
(o]

R=-0.813, p=0.95
R =0.25, p = 0.029

0.3

0.5 0.7
NK cells

0.9

status

=2= |CU
=2= Ward



12-HHTrE

o
R=0.26, p=0.0077

R=0.4,p=0.06
R=0.21, p=0.06

o
(o]
‘0
o
° status
eeo o -2~ ICU
o

(<) ° =2= Ward

° e

0.3

05 0.7 0.9
NK cells



R =0.26, p=0.0073 R=-0.13,p=0.54
R=0.28,p=0.012
0.8
o
0.7 1 o
o
° o
" ° 0. o o
- status
[ 0.6 o °
T =2= |CU
I
3 =2= Ward

0.31

0.3 0.5 0.7 0.9
NK cells



0.91

0.81

0.5

<]
R =0.34, p =0.00052 R=-0.04,p=0.85
R=0.16,p=0.17

status

=2= |CU
=2= Ward

CCL2



LEA

1.2

R=0.31, p=0.0014

R=0.079,p=0.71
R=0.21, p = 0.063

10
CCL2

12

status

=2= |CU
=2= Ward



3.0

(o]
R =-0.39, p = 4.4e-08 R =-0.58, p = 0.003
R=0.17,p=014

status

=2= |CU
=2= Ward

CCL2



[¢]
R =-0.38, po= 1e-04 R =-0.36, p=0.081
° R=-0.23, p=0.047

0.8

status

=2= |CU
=2= Ward

CCL2



Sum of OG isomers

2.01

=
o

1.0

R =0.38, p =9.5e-05 R=0.13,p=0.54
R=0.17,p=0.14

0.5

CCL2

status

=2= |CU
=2= Ward



9—nitro—OA

0.61

o
R=-0.26, p=0.0077

R=-0.24,p=0.25
R =-0.25, p=0.027

10
CCL2

12

status

=2= |CU
=2= Ward



Sum of AG isomers

2.51

2.01

=
o

1.0

R =0.33, p=0.00084 R=0.054,p=0.8

R=0.041,p=0.72

°

o

°
o
° °
o
° o®

status

=2= |CU
=2= Ward



Sum of LG isomers

R =0.39, p = 4.6e-05

R=0.16,p=0.45
R=0.13,p=0.26

10

12

status

=2= |CU
=2= Ward



11-HETE

1.51

o]
R=-0.27, p=0.0063 R=-0.61, p=0.0015
R=-0.036,p=0.75

°
°
°
°
o o
° o ° status
° ° ° -2~ ICU
° °
° ° -2= Ward

CCL2



15-HETE

o]
R=-0.26, p=0.0071 R =-0.56, p=0.0042

1.21 R=-0.061,p=0.6
(o]
o
(o]
1.01
(o]
o °e
o o
o]
° status
) (o]
‘0 o o =2= |CU
° ° ®o -2= Ward

CCL2



5,6-DIHETrE

0.4+

0.3

]
R =-0.28, p=0.0049 R=-0.44,p=0.034
°

R=-0.15p=0.18

o © o
°
°
° ° o
0,0° o
° ° status
=2= ICU
=2= Ward

CCL2



o
0.51 R=0.29, p=0.0038 R=0.13,p=0.57
R=0.16,p=0.17 ©
o

o
~

status

=2= |CU
=2= Ward

8,12-iPF2a-VI

0.3

CCL2



R =0.26, p =0.0073 R=0.15,p=0.48
R=-0.17,p=0.14

2.01
o o

L i
S 1.5
o) status
I
[a) -2~ ICU
c|> ° =2= Ward
— o o
o




19,20-DiHDPA

0.5

o
R =0.31, p = 0.0013

R=-0.029,p=0.8

5.0

7.5

10.0

CCL4

125

15.0

175

status

2= ICU
=2= Ward



TXB2

o]
R =0.28, p = 0.0066 R=0.35p=0.12
R =0.35, p=0.0023

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



10-HDHA

0.4+

o
R=0.4,p=26e-05 o R=0.29,p=0.17
° &R =0.43,p=7.1e-05

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



11-HDHA

(o]
R=0.38,p=%1le-05 R=0.26, p=0.22
R =0.42, p = 0.00015

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



13-HDHA

0.8

o
o)

0.4

R = 0.34, pe= 4e-04

(]
R=0.18,p=0.38
R =0.39, p=0.00044
(]

5.0

75

10.0
CCL17

125

15.0

175

status

=2= |CU
=2= Ward



14-HDHA

N

[¢]
R=04,p523e-05 4 J=029,p=0.16
R =0.44, p = 6.8e-05

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



17-HDHA

0.4

R =0.35, p = 0.00023 R=0.33,p=0.11°
&R = 0.38, p = 0.00068

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



20-HDHA

0.9+

0.8

0.4+

o
R=0.41, p = 1.9e-05 R=0.29,p=0.16
R =0.44, p = 5.5¢205

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



<]
R=0.4,p=3.8e-05 R=0.46,p=0.024
R =0.36, p=0.0013

8

0.401

0.351

status

=2= |CU
=2= Ward

0.251

0.20- %

5.0 7.5 10.0 125 15.0 175
CCL17



12-HETE

N

[¢]
R=0.38, p = 6.5e-05 R=0.11,p=0.59
R=0.47,p=1.1e-05

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



12-HEPE

°
R=0.39, p=3.8e-05

R=0.28,p=0.17
R=0.43,p=7e-05

10.0

125
CCL17

15.0

175

status

=2= |CU
=2= Ward



12-HHTrE

o]
R =0.28, p =0.0048 R=0.25p=0.24
R=0.38,p=7e-04

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



8-HETE

0.9+

o
R =0.26, p = 0.0069 R=-0.051,p=0.81
R =0.39, p=0.00047

status

=2= |CU
=2= Ward

5.0 75 10.0 125 15.0 175
CCL17



(o]
R=-0.3, p=0.0021e R=-0.26,p=0.21
R=-0.27,p=0.018

°
°
0.81 o
°
L °
° ° °© °

status

=2= |CU
=2= Ward

25 5.0 75 10.0 125
CXCL10



TXB2

(]
R =

~0.33, p = 0.00091 R =0.25, p = 0.27
R =-0.37, p=0.0012

°
° °
°
°
) ° o ©
°
° status
) o ) =2= ICU
g °

=2= Ward

25

5.0 7.5 10.0 125
CXCL10



10-HDHA

1.2

1.0

0.4+

o
R =-0.38, p = 6.2e-05
(o]

R=-0.34, p=0.096
R=-0.42, p=0.00011

25 5.0

75 10.0
CXCL10

125

status

=2= |CU
=2= Ward



11-HDHA

(o]
R=-0.32, p=0.0011 o R=-0.26,p=0.21

R =-0.4, p = 0.00031

[e]
.. o (] )
]
o
(o) (o}
o o °
o o status
=2= ICU
=-2= Ward

25

5.0 7.5 10.0 125
CXCL10



13-HDHA

0.8

o
o)

0.4

o
R =-0.4, po= 3.5e-05 R =-0.35, p = 0.086
R=-0.43,p = 7.1e-05

status

=2= |CU
=2= Ward

25 5.0 75 10.0 125
CXCL10



14-HDHA

N

o
F.Q:—O.égl,p:Ze—OS R =-0.35, p=0.087
R =-0.46,p =2.8e-05

status

=2= |CU
=2= Ward

25 5.0 7.5 10.0 125
CXCL10



16-HDHA

0.7

o
o

0.51

0.4

R
°
°

~0.27, p = 0.0049 R=-0.27,p=0.2
R=-0.29, p = 0.009

status

=2= |CU
=2= Ward

25

5.0 75 10.0 125
CXCL10



17-HDHA

0.8

0.4

) o
R -0.38, p = 6e-05
(o]

R=-0.22,p=0.28
R=-0.43, p = 7.2e-05

25 5.0

75 10.0
CXCL10

125

status

=2= |CU
=2= Ward



20-HDHA

0.9+

o
R=-0.41, p=1.8e-05 R=-0.36,p=0.078
° R =-0.45, p = 3.5e-05
(o]
0.8
S o °
0.71 ’. .
o] ® o
o o o [e) o
status
=2= ICU
=-2= Ward

25 5.0 75 10.0 125
CXCL10



1.00 1

0.501

0.251

[¢]
R=-0.32, p=0.0011 R =-0.34, p=0.098
R=-0.32, p=0.0042

o
0 ©
o
status
o ° o
=2= |CU
°
0® ° =2= Ward

2.5 5.0 7.5 10.0 125
CXCL10



(o]
R=-0.41, p = 2.4e-05 R =-0.45, p = 0.029
R =-0.49, p = 8.6e-06

0.401

0.351

status

=2= |CU
=2= Ward

0.251

0.201

2.5 5.0 7.5 10.0 125
CXCL10



11-HETE

1.51

o
R=-0.41,p=2.1e-05 R=-0.38, p=0.062
R =-0.39, p=0.00035

°
°
°
°

L)
o °© o 4 status
° ® o -2~ ICU

° °
. ° ° -2= Ward

25 5.0 75 10.0 125
CXCL10



12-HETE

N

R =

-0.39, p=3.6e-05

R=-0.31,p=0.13
R =-0.41, p = 0.00018

status

=2= |CU
=2= Ward

25

5.0

7.5 10.0 125
CXCL10



12-HEPE

(o]
R = -0.33, p = 0.00062 R =-0.36,p=0.076
R = -0.44, p = 5.8e-05

o
o o
3-
o
(o]

o [o o)
status
=2= |CU
=-2= Ward

25 5.0 7.5 10.0 125
CXCL10



12-HHTrE

(]
R =

-0.35, p = 0.00027 R =0.34, p=0.12
R =-0.42, p = 0.00016

°
°
°
°
° ° o0
status
° o ° - ICU
° o
° =-2= Ward

25

5.0 7.5 10.0 125
CXCL10



13-HODE

o
R =-0.28, p = 0.0047 R=-0.19,p=0.36

3.0 R =-0.43, p = le-04
o
2.51
(e}
2.01 ° ° status
o © [} =2= ICU
° o =2= Ward

25 5.0 75 10.0 125
CXCL10



15-HETE

1.2

1.0

o
R=

-0.53, p = 6.9e-09 R=-0.48,p=0.016
R=-0.53, p = 4.5e-07

o
o
o
)
o
LN ° °

status
=2= |CU
=2= Ward

25

5.0 75 10.0 125
CXCL10



15-HETrE

0.8

0.7

o
o

0.31

o
R=-0.52, p=1.6e-08 R=-0.47,p=0.017
R =-0.53, p=9.2e-07

o
o
o
.:. o ©
° status
o ° =2= ICU
=2= Ward

25 5.0 75 10.0 125
CXCL10



5,6-DIHETrE

0.4+

[}
R=-0.6,p=1.9e-11
(e}

R=-0.57, p=0.0032
R=-0.6,p=6.1e-09

25 5.0

75 10.0
CXCL10

125

status

=2= |CU
=2= Ward



8,9-DIHETrE

o
R =-0.46,p=1.3e-06
o

R =-0.65, p =0.00048
R =-0.45, p = 3.6e-05

25 5.0

75 10.0
CXCL10

125

status

=2= |CU
=2= Ward



o
R =-0.46, p = 9.6e-07 R =-0.46, p = 0.022
R =-0.45, p = 4.1e-05

o
o
0.91
o ©
)
o
o
° ° status
o 00 =2= |CU
0.7 - ® o °
=2= Ward

25 5.0 75 10.0 125
CXCL10



9-HODE

o
R =-0.27, p = 0.0065 R=-0.17,p=0.42
R=-0.3, p=0.0078

° o
° o
3-
o
status
=2= |CU
° ° % o
° ° ° =2= Ward

25 5.0 7.5 10.0 125
CXCL10



0.91

o
R=0.28, p =0.0038 R=0.14,p=0.51
R = O.ll,f) =0.32

0.8- ° °

status

=2= |CU
=2= Ward

057 o °

25 30 35 40
Galectin9



LEA

1.2

R =0.27, p = 0.0063

(o]
R=0.27,p=0.2
R=0.13,p=0.25

25

30

35
Galectin9

40

status

=2= |CU
=2= Ward



Sum of OG isomers

2.01

=
o

0.5

R =0.26, p =0.0077

o
R=0.069,p=0.74
R=0.11,p=0.32

30

35
Galectin9

40

status

=2= |CU
=2= Ward



Sum of LG isomers

R =0.27, p = 0.0053

L]
R =0.089, p=0.67
R=0.11,p=0.34

o o
)
° o
<)
)
° ®
o
o) status
° 2= ICU
<)
=2= Ward

30 35 40
Galectin9



o
0.51 R=0.27,p=0.0062 R =0.42, p=0.041
R =0.085, p=0.46 °

o
~

status

=2= |CU
=2= Ward

8,12-iPF2a-VI

0.3

25 30 35 40
Galectin9



9-HOTE

0.7

0.61

R =0.26, p = 0.0083

(o]
R =0.35, p = 0.085
R=0.078,p=0.5

25

30

35
Galectin9

40

status

=2= |CU
=2= Ward



(o]
R=-0.29, p = 0.0G61 R =¢0.48, p = 0.059
R =-0.22, p = 0.055®

044 o °

status

=2= |CU
=2= Ward




R=-0.32, p=0.0011 e R=-0.38p=0.06
° R=-0.22,p=0.05
o
(o]
0.8 o

(o]
o °

o ° ° o

status

=2= |CU
=2= Ward




TXB2

R

°
=-0.34,p=0.00071

R=0.085,p=0.71
R =-0.32, p = 0.0055

status

=2= |CU
=2= Ward



10-HDHA

(o}
& =-0.35, p=0.00034 R=-0.24,p=0.25
° ° R =-0.41, p=0.00016

1.2 o

status

=2= |CU
=2= Ward

0.4 °

GMCSF



0.8

13-HDHA
o
<

0.4

°
K

-0.38, p=9.5e-05

R=-0.24,p=0.24
R =-0.45, p = 4.1e-05

GMCSF

status

=2= |CU
=2= Ward



14-HDHA

N

&

°
-0.35, p=0.00026

R=-0.25p=0.23
R=-0.43,p=9.4e-05
o

GMCSF

status

=2= |CU
=2= Ward



16-HDHA

0.7

o
o

0.51

0.4

F

-0.29, p=0.0029

R=-0.21,p=0.32
R=-0.33, p=0.003

GMCSF

status

=2= |CU
=2= Ward



17-HDHA

0.8

0.4

° o
R=-0.38, p=7.6e-05
°

R=-0.12,p=0.55
R =-0.44, p = 5.2e-05

GMCSF

status

=2= |CU
=2= Ward



20-HDHA

0.9+

0.8

0.7 -

0.4+

o
R =

-0.42, p = 1e-05

R=-0.32,p=0.12
R =-0.48, p = 8.4e-06

GMCSF

status

=2= |CU
=2= Ward



(o]
R =-0.29, p = 0.0027 R=-0.27,p=0.19
R=-0.32, p=0.0047

1.001
o e o
°
% 0.751 status
o )
% ° =-2= ICU
| 8 © *
N~ =-2= Ward

0.501

0.251

GMCSF



0.401

0.351

0.251

0.201

o
R =

~0.41, p=2.9e-05

%

R=-0.4,p=0.053
R =-0.53, p=6.5e-07

GMCSF

status

=2= |CU
=2= Ward



11-HETE

1.51

(o]
R =-0.39, p = 4.6e-05

R=-0.39, p=0.056
R =-0.33, p=0.0033

GMCSF

status

=2= |CU
=2= Ward



12-HETE

N

R=-0.33,p=7e-04

R=-0.21,p=0.31
R =-0.34, p=0.0022

GMCSF

status

=2= |CU
=2= Ward



12-HHTrE

R

°
=-0.36, p =0.00025

R=0.2,p=0.36
R=-0.36, p=0.0014

o
o
o o
status
° =2= |CU
’o =2= Ward




15-HETE

1.2

1.0

o]
R=-0.53, p=6.6e-09

R=-0.48,p=0.015
R=-0.5,p=2.6e-06

GMCSF

status

=2= |CU
=2= Ward



°
R=-0.51, p=3.4e-08 R=-0.42,p=0.036
R=-0.5p=4.3e-06

0.8
o
0.71 e
)
e
e o ° o
L
E 0.6- ° status
L ; 4 -2~ ICU
I
ﬁ =2= Ward

0.31

GMCSF



5,6-DIHETrE

0.4+

o
R =

-0.55,p=1.7e-09

R =-0.58, p=0.0023
R =-0.53, p=6.9e-07

GMCSF

status

=2= |CU
=2= Ward



8,9-DIHETrE

R=-0.4, p=3.4e-05
o

o
R = -0.66, p = 0.00038
R =-0.42, p = 0.00016

GMCSF

status

=2= |CU
=2= Ward



0.9+

°
R =-0.45,p=1.8e-06

R=-0.39, p=0.054
R=-0.43, p = 1le-04

status

=2= |CU
=2= Ward

GMCSF



10-HDHA

o
&K =-0.27, p=0.0053 R=-0.18,p=0.38
(o]

o R =-0.31, p = 0.0052
124 o
o]
o
(o]
o

° (<]
o
o

status

=2= |CU
=2= Ward

044 ©

IFN-G



13-HDHA

0.8

o
o)

0.4

o
& =-0.279p =0.0063 R=-0.26,p=0.22
R=-0.3, p = 0.0085

status

=2= |CU
=2= Ward

IFN-G



(o]
R =-0.28,=0.0043 R=-0.17,p=0.42
31 R =-0.33, p = 0.0034
(o]

N

status

=2= |CU
=2= Ward

14-HDHA




17-HDHA

0.8

0.4

° o
R =-0.28,p =0.0035
°

R=-0.076,p=0.72
R =-0.31, p = 0.0059

IFN-G

status

=2= |CU
=2= Ward



20-HDHA

0.9+

0.8

0.7 -

o
R =-0.28, p = 0.0036
o

R=-0.26,p=0.22
R=-0.31, p=0.006

IFN-G

status

=2= |CU
=2= Ward



0.401

0.351

0.251

0.201

o
R =

~0.29, p = 0.0039 R=-0.25p=0.23

R =-0.38, p =0.00081

status

=2= |CU
=2= Ward




11-HETE

o
R =-0.28, p = 0.0036 R=-0.31,p=0.14
R=-0.24,p=0.036

°
1.5
°
o
°

o o

8 ° o status

° o © -2~ ICU

°
° 0® -2= Ward




12-HETE

N

(o}
R =-0.3, p = 0.0022

R=-0.19,p=0.36
R =-0.3, p=0.007

status

=2= |CU
=2= Ward




15-HETE

o
R=-0.38, p=9.1e-05 R=-0.32,p=0.12

1.2 R=-0.35,p=0.0017
(o]
o
(o]
1.01
(o]
°
° ]
o
° status
° (o]
° e -e= ICU
! ° o -2= Ward
o
°
(o]
o




15-HETrE

0.8

0.7

o
o

0.51

0.4

0.31

o
R=-0.4,p=3.6e-05 R=-0.33,p=0.11

R =-0.38, p=0.00075

°
°
o status
° : -2~ ICU
°
8 o -2= Ward
°




5,6-DIHETrE

0.4+

0.3

0.21

o
R =
o

~0.41, p=1.8e-05

R=-0.28,p=0.18
R =-0.43,p =9.3e-05

¢} (o]
°
o "“
o"‘
zg. o‘ o
o o °
° ° ®
°
°
0 2 4 6

IFN-G

status

=2= |CU
=2= Ward



0.9+

0.51

°
R =-0.35, p =0.00025

R=-0.27,p=0.2
R =-0.34, p = 0.0026

status

=2= |CU
=2= Ward




AdA

0.5

0.2+

R =

-0.29, p=0.0034

’ ‘
R=-0.29,p=0.17
R=-0.25, p=0.03

o (o]

(o]

8 o

IL-1beta

status

=2= |CU
=2= Ward



0.401

0.351

0.251

0.201

o]
R =0.26, p=0.0077 R=0.24,p=0.25
R= O.‘26, p=0.024

IL-1beta

status

=2= |CU
=2= Ward



SEA

1.6

1.4+

1.2

0.8

R =0.32, p = 0.00093

R=0.19,p=0.38
R =0.33, p=0.0027

o (o]
o
o (] "
O. °
o & °
° o

H ° ° @

8 o

8 °

e ? % °
°
°

0 1 2

IL-1beta

status

=2= |CU
=2= Ward



o
R =0.42, p = 9.8e-06 R§ 0.19,p 50.37
R =0.42, p = 0.00015,
o

0.7

status

=2= |CU
=2= Ward

0.31

IL-1beta



10-nitro—OA

0.61

R =

~0.43, p = 7.4e-06

R =-0.48,p=0.016
R=-0.4, p=0.00033

IL-1beta

status

=2= |CU
=2= Ward



9—nitro—OA

0.61

R=-0.4,p=2.8e-05

R=-0.42,p=0.035
R =-0.38, p=0.00068

IL-1beta

status

=2= |CU
=2= Ward



8-HDHA

0.7

0.4+

R =0.35, p =0.00024

R=0.18, p=0.39
R =0.37, p = 0.00099
o

(o]
4
o
8
(] ‘0
g e o °
o o0
(o]
o
0 2

IL-1beta

status

=2= |CU
=2= Ward



20-HETE

0.8

0.7

0.4+

R =0.26, p = 0.0086
(o]

o
R=0.25,p=0.22
R =0.26, p = 0.029

oo
X

o
o o
[}
0 2

IL-1beta

status

=2= |CU
=2= Ward



0.91

L]
R=-0.26, p=0.0071 R=-0.12,p=0.55
R=0.11,p=0.35
e]
08{ ° o
(]
[}
° o] o] o ©
- 0p ©

status

=2= |CU
=2= Ward

0.51 ° °

IL-1RA



151 o
R=-0.3, p=0.0022 R=-0.29,p=0.16
R=0.11,p=0.33

(o]

o
[} 10' °
O o
@) status
I
9 ° =2= ICU
® -2= Ward
o o
—




o
R =-0.34, p=0.00039 R=-0.3,p=0.15
R =0.069, p=0.55

2.01
o o

w i
= 1.5
o) status
I
[a) -2~ |ICU
c|> ° =2= Ward
— o o
(e)]




0.91

0.81

0.5

R =0.33, p=0.00072

o]
R=-0.22,p=0.29
R=0.071,p=0.54

status

=2= |CU
=2= Ward



aLA

0.2

0.1

R =0.27, p = 0.0081

o
R=-0.22,p=0.3
R =-0.0026, p = 0.98

status
=== ICU

=2= Ward




0.4

°
R =-0.35, pe= 0.00962

R =-0.26,
® R=-0.23,

p=0.34
p = 0.049

status

=2= |CU
=2= Ward



o
R=-0.4,p=25e-05 o R=-0.013,p=0.95
° R=-0.29,p=0.01

0.8

status

=2= |CU
=2= Ward




TXB2

°
R =-0.36, p=0.00029

°
o o
°
o o © o0
°
°
°

R=0.32,p=0.16
R=-0.31, p=0.0071

status

=2= |CU
=2= Ward



Sum of OG isomers

2.01

0.5

o
R =0.38, p = 8.3e-05 R=0.073,p=0.73
R=0.061,p=0.6

status

=2= |CU
=2= Ward



Sum of AG isomers

2.51

2.01

=
o

1.0

R=0.4, p=2.5e-05

R =0.088, p=0.68
R= 0.035,‘p =0.76

status

=2= |CU
=2= Ward



Sum of LG isomers

R =0.43, p = 4.9e-06

R=0.16,p=0.45
R=0.053,p=0.64

status

=2= |CU
=2= Ward



11-HETE

1.51

(]
R =-0.43, p = 5.5e-06 R=-0.38,p=0.06
R =-0.29, p = 0.0091

°
°
°
o
status
=2= ICU
=2~ Ward




12-HETE

N

[°]
R =-0.27, p = 0.0066

R=-0.19,p=0.36
R =-0.3, p = 0.0069

status

=2= |CU
=2= Ward




12-HHTrE

(]
R=-0.39, p=4.9e-05 R=0.19,p=0.38
R=-0.35,p=0.0016

o
o
(o]
(o]
o °°° ° status
° . o° e~ ICU

=2= Ward




15-HETE

1.2

1.0

o
R =-0.44, p = 3.5e-06

R=-0.34,p=0.1
R =-0.37, p = 0.00093

status

=2= |CU
=2= Ward



0.8

0.7

15-HETFE
o
2

o
R=

~0.44, p = 2.9e-06 R=-0.27,p=0.2
R =-0.44, p = 6.9e-05

o
[e]
PR
© g0 0p
o status

[} ]
=2= ICU
=-2= Ward




5,6-DIHETrE

0.4

o
R =

~0.45,p=1.7e-06
(e}

R=-0.44,p=0.03
R =-0.46, p = 1.9e-05

status

=2= |CU
=2= Ward



[e]
R =-0.37, p=0.00015 R=-0.4,p=0.045
R =-0.29, p = 0.0098

)
o
0.91
° o
o
o
)
Lll—J ° ° status
L
° o © -2~ ICU
$ 0.7 - ° "
(e'e] =2= Ward




o]
R =0.28, p=0.004 R=-0.029,p=10.89
R=-0.13,p=0.27

2.01
o (o]

L i
= 1.5
o) status
I
[a) -2~ ICU
I o
o =2= Ward
— ° o
o o ©




o (o]
R=-0.29, p=0.0026 e R=-0.48,p=0016
R =-0.075, p=0.51

0.61

status

=2= |CU
=2= Ward




PGE2

0.8

R =0.42, p = 9.1e-06

°
R=0.026,p=0.9
R =0.5,p=2.6e-06

1.0

1.5

2.0 2.5

3.0

status

=2= |CU
=2= Ward



TXB2

R=0.51, p =1.4e-07

R=0.35p=0.13
R=0.55,p=2.7e-07

1.0

1.5

2.0 25

3.0

status

=2= |CU
=2= Ward



9—nitro—OA

0.61

o
R =0.26, p=0.0077 R=-0.03,p=0.89

e R=Q3,p=0.009

1.0

1.5 2.0 2.5 3.0
IL-7

status

=2= |CU
=2= Ward



10-HDHA

0.4+

R =0.55, p = 1.5e-09 R=0.11,p=0.59 o
® R§0.63,p=6.9e-10

1.0

1.5 2.0 2.5 3.0
IL-7

status

=2= |CU
=2= Ward



11-HDHA

R =0.48, p = 2.3e-07

R=0.081,p=0.7
R =0.61, p = 2.7e-09

1.0

1.5

2.0 25

3.0

status

=2= |CU
=2= Ward



0.8

13-HDHA
o
<

0.4

R =0.3, p=0.0019

@ R=-0.16,p=0.43

R =0.38, p=6e-04

1.0

1.5

2.0 2.5
IL-7

3.0

status

=2= |CU
=2= Ward



14-HDHA

N

R=0.57,p=2.4e-10

e R=z0.13,p=0.53
o
R =0.66,p=5.7e-11

1.0

1.5

2.0
IL-7

25

3.0

status

=2= |CU
=2= Ward



17-HDHA

R =0.35, p =0.00025 R=0.014,p=0.95
R g 0.38, p = 0.00052

0.8

status

=2= |CU
=2= Ward

0.4

1.0 1.5 2.0 2.5 3.0
IL-7



20-HDHA

0.9+

0.8

0.7 -

0.4+

R =0.38, p = 6e—05

R=0.22,p=0.3
R =0.41, p = 0.00022

1.0

1.5

2.0 2.5
IL-7

3.0

status

=2= |CU
=2= Ward



1.00 1

7-HDHA

0.501

0.251

o
R=0.29, p = 0.003 R=0.013,p=0.95
R =0.34, p = 0.0024

o °
°
°
status
° o °
=2= ICU
°
° ° ° -~ Ward

1.0 1.5 2.0 2.5 3.0



0.401

0.351

9-HEPE
o
)
o

0.251

0.201

R =0.28, p = 0.0052

R =0.34, p=0.099
R=0.29, p=0.01
o

1.0

1.5

2.0
IL-7

2.5

3.0

status

=2= |CU
=2= Ward



11-HETE

1.51

R=0.38, p=7.7e-05 R =0.098, p = 0.64
R =0.43, p = 7.5e-05

status

=2= |CU
=2= Ward

1.0

1.5 2.0 2.5 3.0



12-HETE

N

R=0.6,p=1.5e-11

R=0.19,p=0.36
R=0.66, p=7.4e-11

1.0

1.5

2.0 25

3.0

status

=2= |CU
=2= Ward



12-HEPE

R =0.42, p = 8.9e-06

R=0.063,p=0.77
R =0.59, p = 1.8e-08

<)
o
o
(] o
status
=2= |CU
=2= Ward

1.0

1.5

2.0 25 3.0



12-HHTrE

R =0.46, p = 1.6e-06

R=0.2,p=0.35
R=0.51, p=2.3e-06

1.0

2.0 25

3.0

status

=2= |CU
=2= Ward



13-HODE

o]
R =0.27,p =0.0061 R=-0.15,p=0.47

3.07 R =0.46, p = 2.3e-05
o
2.54
o
2.01 ° o status
e © ° 2= ICU
° == Ward

1.0 1.5 2.0 2.5 3.0



15-HETE

1.2

1.0

R =0.43, p = 6.4e-06 R =0.15, p = 0.49
R=0.48,p =1.1e-05

1.0

1.5 2.0 2.5 3.0
IL-7

status

=2= |CU
=2= Ward



o
R=0.42, p=1.3e-05 R=0.24,p=0.25
R = 0.45, p = 4.9e-05

0.8+
o
0.7 )
o
° °

" ° ° o° o
— status
0.6 °
T =2= |CU
é =2= Ward

0.31

1.0 1.5 2.0 2.5 3.0



8-HETE

0.9+

R =0.48, p = 2.9e-07

R=0.18,p=0.39
R =0.52, p =9e-07

1.0

1.5

2.0 2.5
IL-7

3.0

status

=2= |CU
=2= Ward



8iso-PGE2

0.4+

o
w

0.21

R =0.29, p = 0.0045

e R=0.19p=043
R =0.32, p=0.0053
(o] (o]

1.0

1.5

2.0 55
IL-7

3.0

status

=2= |CU
=2= Ward



0.401

0.351

0.251

0.201

o
R =0.28, p = 0.0039

R=0.1,p=0.63
R=0.31, p=0.0051

IL-8

status

=2= |CU
=2= Ward



PEA

0.8

o
R =0.35, p =0.00031

R =0.0045, p = 0.98
R =0.44, p = 6.7e-05

IL-8

status

=2= |CU
=2= Ward



°
R =0.4,p=9.3e005 R=-@17,p=0.52
o R =0.49, p =6.3e-06

status

=2= |CU
=2= Ward

IL-8



SEA

1.6

1.4+

°
R =0.35, p =0.00029

R=0.024,p=0.91
R =0.41, p = 0.00017

IL-8

status

=2= |CU
=2= Ward



POEA

0.81

<]
R=0.31, p=0.0013 R=0.11,p=0.62
R =0.35, p=0.0015

status

=2= |CU
=2= Ward

IL-8



10-HDHA

0.4+

°
R =0.35, p=0.00028 ° R=0.17,p=0.41
° R=0.38, p = 6e-@4

status

=2= |CU
=2= Ward

IL-8



11-HDHA

°
R =0.33, p = 0.680065

R=0.23,p=0.26
R =0.35, p=0.0019

IL-8

status

=2= |CU
=2= Ward



13-HDHA

0.8

o
o)

0.4

R=0.47,p=7.4e-07 o

°

R=0.1,p=0.62

R =0.54, p = 3.6e-07
°

IL-8

status

=2= |CU
=2= Ward



14-HDHA

N

o]
R=0.33,p=0.00062 o, o R=0.17,p= 0.42‘
R =0.36, p=0.0013

status

=2= |CU
=2= Ward

IL-8



16-HDHA

0.7

o
o

o
R =0.43, p = 4.9e-06

R=0.18,p=0.4

R=0.48, p = 9.7e-06

0.51
o
o0 o
o 0°
° .
° o
)
0.4 -
°
2 4 5

IL-8

status

=2= |CU
=2= Ward



17-HDHA

0.4

o
R =0.48, p = 3.9e-07 R=0.23,p20.27
R =0.51, p=1.5e506

status

=2= |CU
=2= Ward

IL-8



20-HDHA

0.9+

0.4+

R =0.53,p=1.2e-08

R =0.14, p = 0.49
R=0.58,p%2.1e-08

IL-8

status

=2= |CU
=2= Ward



1.00 1

7-HDHA

0.501

0.251

o
R =0.33, p =0.00055

R =0.093, p=0.66
R =0.39, p=0.00039

IL-8

status

=2= |CU
=2= Ward



8-HDHA

0.7

]
R=0.39, p = 4.4e-05 R=0.12,p=0.56
R =0.42, p = 0.00011
o

IL-8

status

=2= |CU
=2= Ward



o
R =0.43, p =9.9e-06 R=0.32,p=0.13

R = 0.43, p = 0.00012
L °

0.401

0.351

status

=2= |CU
=2= Ward

0.251

0.20- 0°

IL-8



11-HETE

1.51

o
R =0.37, p = 0.00012 R=0.3,p=0.15
R=0.5,p=2.7e-06

IL-8

status

=2= |CU
=2= Ward



11b-PGE2

0.51

0.21

o
R=0.32,p=0.0013 o

R=-0.1,p=0.62
R=0.47,p=1.3e-05

IL-8

status

=2= |CU
=2= Ward



12-HETE

N

o]
R =0.34, p =0.00053 R=0.18,p=04
R =0.38, p = 0.00055

IL-8

status

=2= |CU
=2= Ward



12-HEPE

R=0.31, p=0.0014

R=0.12,p=0.56
R =0.35, p=0.0016

status

=2= |CU
=2= Ward

IL-8



13-HODE

[}
R =0.27, p=0.0062 R =0.065,p=0.76

3.0 R =0.35, p=0.0018
o
2.51
<]
- . ° status
0o © =2= ICU
o o == Ward

IL-8



15-HETE

1.2

<]
R =0.45,p =1.4e-06 R =0.35,p=0.083
R =0.56, p = 8.6e-08

IL-8

status

=2= |CU
=2= Ward



0.8

0.7

15-HETE
o
<

0.51

0.4

0.31

R =0.49, p = 2.3e-07

[
R=0.47,p=0.017
R =0.56, p = 1.2e-07

IL-8

status

=2= |CU
=2= Ward



19,20-EpDPE

o
R =0.36, p=0.00017 R =0.0084, p=0.97
R =0.43, p=9.3e-05

0.251

status

0.20
=2= |CU
=-2= Ward

0.151

(o]
09
(o]
(o]
o
0.101
2 3 4 5 6

IL-8



5,6-DIHETrE

0.4+

R=0.41, p = 2.2e-05
(o]

o
R=0.33,p=0.11
R =0.46, p = 2.2e-05

IL-8

status

=2= |CU
=2= Ward



o
0.51 R=051,p=4.1e-08 R =0.38, p=0.068
° R =0.57, p =7.6e-08

o
~

status

=2= |CU
=2= Ward

8,12-iPF2a-VI

0.3

IL-8



8,9-DIHETrE

R =0.46, p = 1.1e-06
o

o
R =0.37,p=0.067
R =0.51, p=1.9e-06

IL-8

status

=2= |CU
=2= Ward



8-HETE

0.9+

°
R =0.43, p = 4.6e-06 R =0.37,p =0.066
R =0.5,p=2.8e-06

IL-8

status

=2= |CU
=2= Ward



9,10,13-TriHOME

o
R=0.3,p=0.002 R=-0.046,p =0.83
R =0.39, p=0.00043

1.0

status

=2= |CU
=2= Ward

IL-8



(<} o
R =0.32, p=0.001} R=0.18,p=0.4
R =0.42, p=0.00012

status

=2= |CU
=2= Ward

IL-8



9-HODE

R=0.3,p=0.0019 R=0.081,p=0.7
R =0.36, p=0.0013

o©
o
°
o
status
=2= |CU
=2= Ward

IL-8



9-HOTE

0.7

0.61

]
R =0.26, p = 0.007 R=0.1,p=0.64
R =0.32, p = 0.0047

® o
°
°
° status
=2= ICU
=2~ Ward

IL-8



o
R=-0.27,p=0.006 e R=-0.068,p=0.75

0.8

0.4

soocomcs mame we

O 4
H

IL-10

° R =-0.35, p = 0.002

(o]

o

:

8 .

o ° status

° -2~ ICU
' =-2= Ward



TXB2

o
R=-0.3, p=0.0027

4-
[(e]
3 (o}
(o]
)
(]
o
(o]
8
[°]

R=0.33,p=0.14
R =-0.39, p =0.00064

status

=2= |CU
=2= Ward

O 4
H

IL-10



10-HDHA

1.2

1.0

0.8

0.61

0.4+

o
R =-0.27, p = 0.0068
(o]
(o]

ol

R =-0.25, p=0.027

0.33,p=0.1

IL-10

status

=2= |CU
=2= Ward



11-HDHA

o
& =-0.27, p = 0.0058

R=-0.26,p=0.21
R=-0.29,p=0.011

IL-10

status

=2= |CU
=2= Ward



14-HDHA
i

o
2 =-0.31,p=0.0015 & =-0.35,p=0.085
R=-0.3, p=0.0073

°
8 °
° ° °
°
o 8
°
o
° °
8 o ° status
() =2= |CU
=2= Ward

°
°
8 o %
°
o °
°
° L
°
°
°© °
0 1 2 3

IL-10



1.00 1

0.501

0.251

o
R =-0.29, p = 0.0026

R =-0.42, p=0.036
R=-0.25,p=0.025

o
status
° =2= |CU
=2= Ward
o
)

IL-10



12-HETE

o
R =-0.29, p = 0.0026 R=-0.25p=0.22
R =-0.31, p=0.006

6 p
(o]
o
o
° ° status
4+ 0o ° . e~ ICU
) =2= Ward
(o]

IL-10



12-HEPE

o
R =

-0.29, p = 0.0027

R =-0.34, p = 0.093
R =-0.31, p=0.0063

status

=2= |CU
=2= Ward

IL-10



12-HHTrE

o
R=-0.3,p=0.0024

R =0.46, p=0.028
R=-0.42, p=0.00012

o
°

o
8
[¢] status
g -2 ICU

) =2= Ward
(o]

°

°
5}
8
°
8
[°]
| _
o ° o
8 o
! o

[e] o o) (]
0 1 2 3

IL-10



13-HODE

3.0

2.51

2.01

o
R =

~0.31, p=0.0012

R=-0.35, p=0.089
R =-0.33, p=0.0029

status

o =2= |ICU
=2= Ward

IL-10



15-HETE

1.2

1.0

0.81

0.61

o
R =

-0.35, p=0.00031

R=-0.22,p=0.28
R =-0.4, p=0.00026

)
o
! o 8 o
: o °
(o] o
o
o

(o]

0 1 2

IL-10

status

=2= |CU
=2= Ward



15-HETrE

0.8

0.7

o
o

0.31

o
R =

-0.33, p=0.00081

R=-0.17,p=0.43
R =-0.38, p=0.00066

status

=2= |CU
=2= Ward

IL-10



5,6-DIHETrE

0.4+

0.3

0.21

o
R=

-0.31, p=0.0016

R=-0.3,p=0.14
R =-0.31, p = 0.0056

8

e

g . e
o ° “ o oR
8 °
o o © o
° ° o
°

°

0 1 2 3

IL-10

status

=2= |CU
=2= Ward



0.9+

o
R =

-0.29, p=0.0025

R=-0.25p=0.23
R =-0.32, p=0.0048

IL-10

status

=2= |CU
=2= Ward



9-HODE

o
R =-0.29, p = 0.0029

© 00® 00 OoO@

R=-0.28,p=0.014

status

2= ICU
° =2= Ward




0.4

o
KR=-0.3,p=0.0039 o R=-0.17,p=0.53
® R=-0.27,p=0.018

(o]
o

(o]
°
8 °
8 °

o
. o

o) (]
o ° o °

: . status
; © s - ICU

=2= Ward
8
: %
° ®
:N
(o]

(o]

8 o °
o) o
° ° o
o

o

o
0 2 4 6

IL-12p70



(o]
&R =-0.36, p=0.00015 R=-0.021, p = 0.92

° R =-0.4, p = 0.00034
o
(o]
081
e
‘ o
o
o ° status
0.61 @ -2 ICU
8
° =-2= Ward
@
(o]
; o
8
o
044 8 ° °
° ° ]
o
8 } %
! L °
8
o
o
0 2 4 6

IL-12p70



TXB2

]
R =

-0.37,p=0.00018

R =0.056, p=0.81
R=-0.41, p=0.00027

o
(o) (o]
o
o
8 8
°
° status
; ° -2~ ICU
° =2= Ward
8
)
)
3
o
o
°
g
6]
o
)




14-HDHA

N

o
R=-027,p=0.005

e R=0.015 p=0.94
R =-0.37, p = 0.00081

o)
(o)
8
8
)
)
o
]
° )
o
4 ° status
) =2= |CU
(5]
=2= Ward
(5]
8
8
()
8
8
8
)




11-HETE

1.51

o
R =

-0.3, p=0.0021

R=0.15,p=0.47
R =-0.33, p=0.0033

°
status
=2= ICU

° ° =2~ Ward




12-HETE

°
R=-0.33, p=0.00061

N
®o

R=0.075,p=0.72
R =-0.41, p = 0.00023

status

=2= |CU
=2= Ward




12-HHTrE

o
R =-0.37, p=0.00011

R=0.024,p=0.91
R=-0.41,p=2e-04

o
(o]

(o]
(o]
o
° & status
8 -2= ICU
‘ (o]

o =-2= Ward
e

) o
) ® °
° o

(2]
8
° ®
i e

’ (o]
8 ®
° o
o ' O'
° ‘ ° (e} o
0 2 4 6

IL-12p70



15-HETE

1.2

1.0

o
R =

-0.34, p=0.00036

R=0.064,p=0.76
R =-0.39, p=0.00046

status

=2= ICU
4 -2= Ward




15-HETrE

o
R=-0.29, p=0.0031 R=0.25,p=0.23
R =-0.36, p=0.0014

0.8
°
0.79 o
°
e
° ° °
° status
0.61
° 2 -2~ ICU
‘ ® =2~ Ward
°

0.31




20-HETE

0.8

0.7

(o]
R =0.27, p = 0.0062 R=0.31,p=0.14
° R=0.26, p=0.028

Poi
;

o
°
(o]
. status
0.6 ° =2= |CU
: ‘ =-2= Ward
; ° ° ° o
® )
o
(o]
051 ©
o
8 & °
(o]
o
o o
o
0.4
o
0 2 4 6

IL-12p70



5,6-DIHETrE

0.4+

0.3

0.21

o
R=

-0.3, p=0.0023

R=-0.14,p=0.5
e R=-0.32,p=0.0038

(o]

8

8

(o] (o]

o (o]

° H &

) 8 8 ° .

8 e o ©
o o © o
o o
o

(o]

0 4

IL-12p70

status

=2= |CU
=2= Ward



0.9+

o
R =

~0.3, p =0.002

000 0 © o®

R=0.13,p=0.54
R =-0.36, p=0.0014

o
status

o =2= |CU
=2= Ward

IL-12p70



0.91

0.81

0.5

R =0.33, p =0.00055

R=0.21,p=0.3
R=0.1,p=0.37

10 15
IL-18

20

25

status

=2= |CU
=2= Ward



LEA

1.2

R =0.36, p =0.00015

R=0.22,p=0.3
R=0.29, p=0.011

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



EPA

o
R =0.27, p = 0.0059 ® R=0.086p=0.68

175 R =0.22, p=0.052

1.501 e

status

=== ICU

1.25 == Ward

1.00 1

0.75- ° °

IL-18



aLEA

0.351

0.301

0.251

0.201

0.151

o
R=0.31, p=0.0016 R=0.14,p=0.5
R =0.25, p=0.025

status

=2= |CU
=2= Ward

° o ° °
(o]
(o]
(e} Q'
(o]
o
(o] (o]
(o]
10 15 20 25

IL-18



0.401

0.351

0.251

0.201

R =0.27, p = 0.0066

R=0.27,p=0.19
R=0.25p=0.024
%

° o ° o
o o (]
o °
) o
o
[0
o] o
(o]
]
o
(o]
10 15 20 25

IL-18

status

=2= |CU
=2= Ward



PEA

0.8

R =0.35, p =0.00027

R=0.13,p=0.52
R =0.4, p=0.00028

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



SEA

1.6

1.4+

°
R =0.38,p=7.2e-05

R=0.29,p=0.16
R =0.39, p=0.00042

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



o
R =0.46, p = 8.4e-07 R=0.22,p=028"

®

0.71 e R=0.42 p=.00013

status

=2= |CU
=2= Ward

0.31

IL-18



Sum of OG isomers

2.01

=
o

1.0

o]
R=0.28, p =0.0038 R=-0.13,p=0.54
R=0.17,p=0.14

status

=2= |CU
=2= Ward

0.5

10 15 20 25
IL-18



10-nitro—OA

0.61

R =

-0.35, p=0.00027
°

R=-0.14,p=0.5
R =-0.37, p = 0.00093

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



9—nitro—OA

0.61

R =

~0.34, p = 4e-04

R=-0.18,p=0.39
R =-0.35, p=0.0017

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



13-HDHA

0.8

o
o)

0.4

(<]
R =0.32, p = 0.00084

R ©.33,p=0.11
R =0.31, p = 0.0051
o

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



16-HDHA

0.7

o
o

R =0.34, p = 0.00042

(]
Re- 0.31,p=0.13
R =0.36, p=0.0012
(]

0.5-
o
o ©°9
(o]
° o o
o
° b o
[o]
o
0.4-
o
5 10 15 20 25

IL-18

status

=2= |CU
=2= Ward



20-HDHA

0.9+

0.8

0.4+

R=0.31, p=0.0014

(o]
R=0.2,p=0.33
R =0.33%p = 0.0034

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



8-HDHA

0.7

R=0.47, p=6.7e-07

°
R=0.32,p=0.12
R =0.49,p=5.1e-06

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



0.401

0.351

9-HEPE
o
)
o

0.251

0.201

R =0.42, p = 1.6e-05

o
R=0.33,p=0.11

R =0.36, p=0.0014

10

15
IL-18

20

25

status

=2= |CU
=2= Ward



Sum of AG isomers

2.51

2.01

=
o

1.0

R=0.3, p=0.0018

R=-0.077,p=0.71
R=0.18,p=0.11

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



Sum of LG isomers

(o]
R =0.29, p=0.0035 R=-0.077,p=0.72
R=0.13,p=0.25

° o
)
L °
<)
<)
<) ° e
o o o
o0 status
=2= |CU
=2= Ward

10 15 20 25
IL-18



14,15-DIHETE

0.251

0.20+1

0.151

0.101

R=0.4, p=2.3e-05

(o]
R=0.23,p=0.28
R =0.32, p = 0.0038

10

15
IL-18

20

25

status

=2= |CU
=2= Ward



0.251

19,20-EpDPE

0.151

0.101

o
HS)
o

R =0.36, p=0.00018

R=0.2,p=0.33
R =0.36, p=0.0013
[} o

10

15
IL-18

20

25

status

=2= |CU
=2= Ward



20-HETE

0.8

0.4+

[e]
R =0.3, p=0.0023
(o]

R=0.16,p = 0.45
R =0.34, p = 0.0031

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



5,6-DIHETrE

0.4+

o
R =0.27, p = 0.0052
o

R =0.37, p = 0.067
R =0.34, p = 0.0026

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



5-HEPE

0.51

0.2

°
R =0.35, p =0.00027

R =0.15, p = 0.47
R=0.26, p=0.025

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



o
0.51 R=0.45p=1.8e-06 R=0.2,p=0.36
® R=0.44,p=7.2e-05

o
~

status

=2= |CU
=2= Ward

8,12-iPF2a-VI

0.3

IL-18



8,9-DIHETrE

R =0.48, p = 2.5e-07

R=0.29,p=0.16
R =0.55, p=1.5e-07

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



9,10,13-TriHOME

1.0

R =0.33, p =0.00067

R=0.11,p=0.6
R =0.37, p = 0.001
(o]

10

15 20
IL-18

25

status

=2= |CU
=2= Ward



2.0

1.51

9,10-DiIHOME

o
R =0.28, p = 0.0046 R=-0.067,p=0.75
R=0.21, p = 0.065

status

=2= |CU
=2= Ward

10 15 20 25



(o]
R=0.37,p=0.00012 © R=0.18,p=0.38
R=0.43,p=7.7e-05

o ‘ °
© o
“
° e
o
30 35 40

IL-6Ra

status

=2= |CU
=2= Ward



R=0.28,p=0.0038 R =0.068, p=0.75
3.01 R=0.32,p=0.0047

status

=2= |CU
=2= Ward

1.5 ° ]

30 35 70
IL-6Ra



AdA

0.5

R =0.38, p =6.5e-05

°

R=-0.0077,p=0.97

R=0.45, pg 3.6e-05
°

0.2+

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



n3 DPA

0.91

0.8

R =0.36, p =0.00016

R=0.014, p = 0.95
R =0.46, p = 2.1e-05

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



0.401

0.351

0.251

0.201

o
R =0.43, p = 0.033
R=0.3, p=0.007

R =0.32, p=0.001

IL-6Ra

o 0%
e © o
o
® °
o o
o
[0 o
o
o] (o)
o
(o]
30 35 40

status

=2= |CU
=2= Ward



PEA

0.8

°
R =0.33, p =0.00076

R=0.32,p=0.12
R =0.35, p=0.0015

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



R =0.28, p = 0.007

0.4

R=-0.091, p=0.74 oo
R =0.34, 8 = 0.0025
(o]
o
o

30

35 40
IL-6Ra

status

=2= |CU
=2= Ward



SEA

1.6

1.4+

R =0.28, p = 0.0043

o
R =0.46, p = 0.02
R =0.25, p = 0.029

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



10-nitro—OA

0.61

(o]
R =-0.26, p = 0.0082
o

R =-0.45,p =0.022
R=-0.24% =0.032

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



1.00 1

7-HDHA

0.501

0.251

R =0.28, p =0.0042

R=0.22,p=0.29
R=0.3, p=0.0077

30

35 40
IL-6Ra

status

=2= |CU
=2= Ward



11-HETE

1.51

R =0.36, p=0.00017

R =0.54, p =0.0053
R =0.35, p=0.0019

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



11b-PGE2

0.51

0.21

R=0.31, p=0.0015

o
R=0.17,pe 0.43
R =0.35,p=0.0018

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



14,15-DiHETrE

0.51

R =0.29, p=0.0028

o
R=0.12,p=0.57
R =0.45, p = 3.6e-05

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



15-HETE

1.2

1.0

R =0.34, p=0.00043

R = 0.55, p = 0.0048
R=0.3, p=0.0075

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



15-HETrE

0.8

0.7

o
o

0.31

R=0.32, p=0.0012

(¢}
R =0.53, p = 0.0059
R=0.27,p=0.018

o
o
o
o o
90 o o °
° status
o ° -2~ ICU
=2= Ward

30

35 40
IL-6Ra



5,6-DIHETrE

0.4+

R =0.39, p = 4e-05

(]
R =0.58, p =0.0026
R =0.33, p =9.003

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



5-HETE

0.7

0.4+

R=0.47, p=7e-07

R=0.33,p=9.1
R =0.49, g = 4.5e-06

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



o
0.51 R=0.39, p=6.2e-05 R=0.32,p=0.12
R=9.54,p=3.1e-07
o

o
~

status

=2= |CU
=2= Ward

8,12-iPF2a-VI

0.3

30 35 40
IL-6Ra



8,9-DIHETrE

R =0.39, p=4.7e-05

o
R =0.38, p = 0.059
R =0.46, p = 2.4e-05

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



<]
R =0.3, p=0.0021 R=0.4,p=0.047
R=0.27,p=0.017

o
o
0.9
° o
(o]
(o]
o

l|.|_J ° o status
w

& ° -2= |CU
T 0.7 ° °
o0 =-2= Ward

30 35 40
IL-6Ra



9,10,13-TriHOME

1.0

o
R =0.38, p = 7.6e-05

R=0.032,p=0.88
R =0.53, p = 4.8e-07
o]

35
IL-6Ra

40

status

=2= |CU
=2= Ward



9-HETE

0.61

R =0.36, p =0.00022

o
R =0.4, pg 0.05
R =0.34, p = 0.0022

30

35
IL-6Ra

40

status

=2= |CU
=2= Ward



9-HODE

R =0.33, p = 0.00055 R=0.082,p=0.7
R =0.4, p = 0.00025

30 35 40
IL-6Ra

status

=2= |CU
=2= Ward



0.91

0.81

0.5

R =0.41, p = 1.5e-05

R=0.077,p=0.72
R=0.13,p= 0.2'7

1.2

1.6

2.0
TNFa

2.4

status

=2= |CU
=2= Ward



LEA

1.2

R=0.32,p=0.0011

o
R=0.18, p=0.39
R=0.1,p=0.36

1.2 1.6

2.0
TNFa

2.4

status

=2= |CU
=2= Ward



aLA

o
R =0.28, p=0.0061 R=0.31,p=0.14
R=-0.16,p=0.18
o (o]

status

=2= |CU
=2= Ward

0.2 1 °

0.1

1.2 1.6 2.0 2.4
TNFa



Sum of OG isomers

2.01

=
o

1.0

o
R=0.46,p=1.1e-06 R=0.27,p=0.2
R=0.18,p=0.11

status

=2= |CU
=2= Ward

0.5

1.2 1.6 2.0 2.4



Sum of AG isomers

2.51

2.01

=
o

1.0

R=0.42,p=1.1e-05

()
R=0.059,p=0.79
R=0.14,p= 0.21‘

1.2 1.6

2.0
TNFa

2.4

status

=2= |CU
=2= Ward



Sum of LG isomers

R =0.49, p = 1.3e-07

o
R=0.29,p=0.17
R=0.19,p=0.1

1.2 1.6

2.4

status

=2= |CU
=2= Ward



15- o
R =0.32, p=0.00091 R=0.11,p=0.6
R=0.042,p=0.71

o
o

[} 10' °
O o
@) status
I
9 ° =2= ICU
® -2= Ward
o (o]
—

1.2 1.6 2.0 2.4



o
0.51 R=0.52,p=3e-08 R =0.62, p=0.0015
R=0.3, p=0.0072 g

o
~

status

=2= |CU
=2= Ward

8,12-iPF2a-VI

0.3
o
o ° [o]
(o]
(o]
1.2 1.6 2.0 2.4

TNFa



9,10,13-TriHOME

1.0

R =0.34, p = 0.00052

o
R=0.28,p=0.18
R =0.29, p = 0.0091
o

1.2 1.6

2.0
TNFa

2.4

status

=2= |CU
=2= Ward



2.0

1.51

9,10-DiIHOME

o
R=0.4,p=3.9e-05 R =0.26, p=0.23
R =0.016, p = 0.89

status

=2= |CU
=2= Ward

1.2 1.6 2.0 2.4



9-HOTE

0.7

0.61

o)
R =0.33, p =0.00069 R=0.23,p=0.28
R=0.14,p=0.22

status

=2= |CU
=2= Ward

1.2 1.6 2.0 2.4
TNFa



DHA

3.0

1.51

(] e]
R=-0.31, p=0.0014
<]

R =-0.59, p = 0.002
R=-0.22, p=0.049

10

15
SIL2R

20

status

=2= |CU
=2= Ward



Sum of OG isomers

2.01

=
o

0.5

o
R =0.27,p =0.0051 R=0.12,p=0.56
R=0.23,p=0.044

°
°
°
® °
o ‘.. o
°
o °
[}
° status
° °
=2= ICU
=2= Ward

10 15 20
SIL2R



10-nitro—OA

0.61

0.3

(o]
R =-0.29, p = 0.0028

R =0.066, p=0.75
R =-0.36, p=0.0012

10

15
SIL2R

20

status

=2= |CU
=2= Ward



9—nitro—OA

0.61

(o]
R =-0.31, p=0.0016

R =0.027,p=0.9
R =-0.37, p = 0.00084

10

15
SIL2R

20

status

=2= |CU
=2= Ward



Sum of LG isomers

o
R=0.27, p=0.0068 R=0.14,p=0.49
R=0.21, p = 0.064

10 15 20

status

=2= |CU
=2= Ward



11b-PGE2

0.51

R=0.26, p=0.0071

R =0.19, p = 0e37
R =0.35, p = 0.002

10

15
SIL2R

20

status

=2= |CU
=2= Ward



8,12-iPF2a-VI

0.5

o
~

0.3

o
R=0.31, p=0.0015

R=0.3,p=0.16
R =0.26, p=0%23

10

15 20
SIL2R

status

=2= |CU
=2= Ward



8,9-DIHETrE

R=0.32,p=0.0011

R =0.38, p = 0.059
R =0.24, p=0.033

10

15
SIL2R

20

status

=2= |CU
=2= Ward



0.91

(o]
R =0.55, p = 2.2e-09 R=0.017,p=0.93
R=0.2,p=0.08

0.8- ° °

status

=2= |CU
=2= Ward

0.51 ° °

10 15
CD-206



LEA

1.2

R =0.34, p =5e-04

R=-0.13,p=0.53
R=0.27,p=0.019

10

15
CD-206

status

=2= |CU
=2= Ward



aLA

o
R=0.44, p =5.2e-06 R=0.082,p=0.7
R =0.0038, p=0.97

status

=2= |CU
=2= Ward

0.2 1 °

0.1

10 15
CD-206



[°]
R=-0.4, p = 3.66-05 R =-0.57, p = 0.0027
] R =0.049, p = 0.67
3.0 ° P

status

=2= |CU
=2= Ward

10 15
CD-206



aLEA

0.351

0.301

0.251

0.201

0.151

R =0.29, p = 0.0031 R=-0.12,p=0.58
R=0.27,p=0.019

status

=2= |CU
=2= Ward

10 15
CD-206



o
R=-0.29,p=0.0027 o R=0.24,p=0.26
° R =-0.0082, p = 0.94

0.8

status

=2= |CU
=2= Ward

10 15
CD-206



TXB2

]
R=-0.31, p=0.0021 R=-0.27,p=0.24

41 R =-0.009, p = 0.94
(o]
3 ° °
o
o
°o ° o o
‘. status
o © o ° =2= ICU
° (o]

=2= Ward

10 15
CD-206



Sum of OG isomers

2.01

=
o

1.0

R=0.57,p=2.6e-10 R=0.14,p=0.5
R=0.28,p=0.012

status

=2= |CU
=2= Ward

0.5

10 15
CD-206



R=0.58, p=1.6e-10 R =-0.0028, p =0.99

R =0.33, p=0.0035

Sum of AG isomers

2.01

=
o

1.0

CD-206

15

status

=2= |CU
=2= Ward



Sum of LG isomers

R=0.61,p=1.2e-11

R=0.12, p=0.56
R=0.28, p=0.013

15
CD-206

status

=2= |CU
=2= Ward



11,12-DiHETrE

0.51

0.4

o
R =0.28, p=0.0046

R =0.0014, p = 0.99
R=0.1,p=0.38

10

15
CD-206

status

=2= |CU
=2= Ward



11-HETE

o
R =-0.29, p =0.0033 R=-0.3,p=0.14
R =0.091, p = 0.43

1.51

° ° o status
° ° ° -~ ICU
) =2= Ward

10 15
CD-206



1.5
R=0.42,p=1.1e-05 R=0.15p=0.48
R =-0.088, p = 0.44

(o]
o

[} 10' °
O o
@) status
I
9 ) =2= ICU
® -2= Ward
o (o]
—

10 15
CD-206



12,13-DiIHOME

2.01

=
o

=
o

0.51

R =0.35, p =0.00026

R=0.13,p=0.52
R=0.011,p=0.92

CD-206

15

status

=2= |CU
=2= Ward



12-HHTrE

2]
R =-0.27, p = 0.0068

R=0.028,p=0.9
R =-0.026, p = 0.82

()
® oo 0
status
() =2= |CU
) =2= Ward

15
CD-206



14,15-DIHETE

o
0.25{ R=0.38 p=6.3e-05 R=-0.015,p=0.95
R=0.097,p=0.4

(o]
o
o
o
o
(o]
0.201
status
=2= |CU
=2= Ward
0.151
0.10
]
(o]
10 15

CD-206



15-HETE

1.2

1.0

[
R=-0.27, p=0.006 R=-0.16,p=0.44
R=-0.043,p=0.71

°
°
°
°
o °
°
o ° ° o
status
® °
() o =2= |CU
°
° ° o 8 %o -2= Ward

10 15
CD-206



R=0.31, p=0.0013 R=0.073,p=0.73
R=0.012,p=0.92

0.41
o

L ° °
m o ° status
L
o -e~ ICU
9 0.3- % == Ward
~
—

10 15
CD-206



5-HEPE

0.51

0.2

(o]
R =0.34, p = 0.00048

®R=-0.064,p=0.76
R =0.084, p = 0.47

10

15
CD-206

status

=2= |CU
=2= Ward



0.5

o
~

8,12-iPF2a-VI

0.3

o
R =0.45, p = 2.4e-06

R=0.12, p=0.57
p=0.0019

R =0.35,

10

CD-206

15

status

=2= |CU
=2= Ward



8,9-DIHETrE

0.3

R =0.28, p = 0.0045

o
R=0.17,p=0.42
R =0.23, p=0.043

15
CD-206

status

=2= |CU
=2= Ward



8iso-PGE2

0.4+

o
w

0.21

R =

-0.3, p=0.0027

e R=-0.42,p=0.066

R=0.07,p=0.55

°
°
°
o
o
1I0 1'5

CD-206

status

=2= |CU
=2= Ward



9,10,13-TriHOME

1.0

R =0.26, p = 0.0081

R=0.074,p=0.73
R =0.31, p=0.005
(o]

15
CD-206

status

=2= |CU
=2= Ward



2.0

1.51

9,10-DiIHOME

R=0.51, p=4.3e-08 R=0.17,p=0.4
R=0.013,p=0.91

status

=2= |CU
=2= Ward

10 15
CD-206



9-HOTE

0.7

0.61

R=0.31, p=0.0017 R = 0.0094, p = 0.96
R =0.087,p=0.45

status

o} =2= ICU
° ° == Ward

10 15
CD-206



